ESRPERER TS EHR

FEZIJBRF
c FRAFZBERTL T KRG AR
» RATRFERGIA AT B AT L LR KIS

A K B B D5 B R 3R 7R 5 R e W 7 TR Tk BUR BT R T A 4 B RN AR
1 BB S TT R S R T BT B TRR R

3.1 REEFHBE

LT PR — Z B 85 B AN S (9 9\ 1) 4% S0l 2k B R Bt o A i O 9 G T i 181 . — ik
FHAE 2 n B 10, P 7R o A I 00 . A G AR B b, R BT 1B i T T S A A
AN HBA ERTR8 BERe A0 O AL R S A2 I8 A, B 32 i T T B0 B Y 4% ek
TERCT B AR B K BT T — R S AR AR W /MEAAR A 0 TR EBE T — 1R
B IR BE AR R o 38T WS IR BE 177 1 AT LS 21 PR 00 K RE 203 R i T 45 % L 32 gl J2 1
AR JEE £ R Ok JBE 1) o B R i TR AR AR RS P B 5 R, R P B . RN L
14 PR AE A E L 25 N BR) JEn J 76  SH A 6 T AT 9 LA 3 el 5 0 80 R T 4R P9 8 (L DAL TG 4]
PG B0 T L B2 R A D7 (19

3.1.1 REEFHEEHE

FEA K 7 R Z 00, AT B T At A R KB 240, a3 & ATk I
FiH JE B Y R AL T T 2 B R L K S B P Y B R R e A0 i T R B AR R AT T U A K
JEE A B R B8 A SR R AR B A R B {27 k1 .

MAFRAT AA SR KER W %, I LA 65 B E 2 R4 O R o s T
R FRNIRIEFER”, JLE M 0 B 255, Ak 255, AAH 0, MUK E &N 0 3] 255 19
SR R K RE RS . i 2R — e AR e SR 3R G I 8 R JEE B RN 45 K BE R R S
THANE 3.1 E2B 50 s i R AT LU IR 301w i B 5 B4 AR

IR EE T3 B IR T — W R K BE R Ge (5 B 2 B T G 43 5 R TGO B 7% 4
AP R, BRI IR B SRR — N KR G R B, A 1 S g R R
PR A B, R G b B RO BE B0 OB B MR . K B R — A R B AR
P R TP 85 MG 3R R K BE GO, AR A R EL A A A K BE G (A5 2 AE RS s B IR
Bk . AR AL R AR FR O 5 A — A binGBREFED .

BRI K B B 2 — A B BR A & e RS IR BB 055 2 IR J3E 20 H 30 118 53136 11 3% g

2
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K31 EBRERE G BOR E H 7 E

KA. BBE—IEEIRRERREEON N OKEFESBON L P IKER N i (O<i <L) &R E
SO N 0 iR AR 0 I RE D TR A A B S KB @ PN A bR D IR B S @ IR R A

BN,
3.1.2

X B EH 7 B OpenCV #1 Python SZIf

i ] OpenCV Ge it il E5 75 . 3 28 5 1 FH R AR calcHist OS2 B, 9 B 2200

hist = cv2.calcHist(images, channels, mask, histSize, ranges, accumulate)
SR

hist: K78 H 5 Bl LR [\ 2 — A~ 4 54 .

images: %/~ fif AW 46 B .

channels: FREFELEGE TR ERMGEE . Hrb il g5 & 2 PS50 A Bl
B K EAR I B R E S Lo g Sy Lo [1].[2], 5K B.G\R,
mask: R EG . Goit B R KR 7 8 %8 None, ST BIE Y 5 — 70 B
J5 B s ZE A AR

histSize: K78 BINS B9 %, BUREEHAIECH . 1402 bins=3 KR = MIKEY,
ranges: Fo/NF R B RS E, Blanlo, 255],

accumulate: F/R BiFE MR BOIAK false, WRZSEBEE N true, W EHJ5 &
TEFF IR A S PEE XS AT NS AR R iR Hor KL, 808 T 5
B BT T L, 2 A B B B B ARG B T — R O B,

TP VR B 7 1R A2 15 S B P B T

import cv2

import numpy as np

from matplotlib import pyplot as plt

img = cv2. imread('C:/Users/Administrator/Desktop/lenaNoise. jpg', 0)
cv2. imshow("Gray", ing) # Won img HiEE B IR BE B
hist = cv2.calcHist([img], [0], None, [256], [0,256])
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plt. title("Grayscale Histogram") = FME 1Y R
plt. hist(img. ravel(), 256) £ i K B B R
plt. show()

FRFEFR BT ENE 3.2 . B 3. 2Ca) FiB MR G EG . B 3. 2(b) T EK
BE B P B 90 Bl A s 3 7 TG o BT AT 15 2R B0 1) R — R 2 K (L A0 R B, R Tl R Y 0~ 255 B
rE KJEM . 3. 2(b) TR EFEA 256 4 bin,
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B 3.4 B MRS ) D PRI B WL i BT BT PRI A R o3 . AnT&L 3.5 Ch) s, BT
Pl AR B 2, Ik 5 PR B 0 e B2 s ez, e 3.6 () Bz » 7 R B9 A 2 {EAR 52
[RERza e Ry ESRE SIOPO g2
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3.2 HAFBEBEK

TE B S AR 4 o AR AP, AT BE AT 4 0 A 1 A A T B . 91 2 A A M s DX e ) Y A0
WA AN O o T R T T A B AR K BE O A B T R R BT R L X T BT
PRI ARSI . O T ol PSR 150 M, AL 5 e A I RE ML 14 22 010 A2 R, BV 5RO JRE 73 A
B S AE A RE AL PRTAR A T LU BE TSR . 5 1R 8 Al 2 8 L PR B K RE T R P AR AR
HR R AN K EE DX T8] A BAE 4 98K S R P9 24 20 o A R

3.2.1 EFEHELKFERE

LT PR A A AL S X PR G A AR e e i Al e R 0 B P PR R L i — S R S
AR R RO RO TR . S A Ak PR A R AR 3R 5 A R AT RE 2 19 K E Z00F B A 9 2] .
XSl ST O R 4 T 1 s B SR IR AR H . BRI ek R AR R BB e £
BRASAIKIER PR R LT 0, BB IRKEFMBIBER P, o LUK RS, LA
AN TR TE 2t B RE A S G AR 14 L5 R A S A AL 2 ) 9 BT 1. RACRBRINE .

BT R EBI & KE R P RR B ER P, .

Piz%i, i€ 0.1 L — 1(L HIRBEHAKD (3-1)
ZIETHE P BT R R,
(=P (3-2)
=1
e o, AME 0~255,
y;=c; X255 (3-3)
YAk 22 S 0 T PRI Y B R BT TR Y = DX G R L S 1 K R T T N Bl A A
BN IKBEL GRS n, B 2 5 B9 B 7 KA bR R KR B HER P,
3.2.2 HABEHEXE OpenCV #1 Python LI
FF Python #J OpenCV 241t T — equalizeHistO s T IEG 245 1k, VA HIEE R .
cv2. equalizeHist(img)

FLI7 A S B e T

import cv2
import numpy as np

from matplotlib import pyplot as plt

img = cv2. imread( 'gray. jpg',0)

equal = cv2.equalizeHist(img) = 7 K54k
hist = cv2.calcHist([equal], [0], None, [256], [0,256])
cv2. imshow("equal", equal)

plt. hist(equal. ravel(), 256)

plt. show()
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R Je i equalize Hist O bR 8O 352 A B BR #E AT B D7 18139 405 fL 484 #4508
caleHist O pREUGE I BT IS M AL e FMR B0 BLJ5 . stk AR s TR 45 0 B A 3. 7
Fios . HO7 A Z 05 B US4 A 2 05 59 BT B AN 8] 3. 8 Bras . ATRLAE B, 220d B
Jr A 2 )5 . P 3. 8w i LD PRI A 2 R 20 A1 B e L E R ) B B B A 2 ) B PR
U RN I T
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&l 3.9 R T XL BE A /INI I i G i BT L. 81 3010 g XE L 3.9 i KR GEAT B
J7 B 145 4k 2 )5 i BEARA R Fn iy i 5 &1, vl AR B ] 3. 10 i BT A T 3 2 13k
TAA A I b BE A T I A B

3. 11 e B v i UG Rz GO B i 7 . &1 3012 S I 3. 11 i R it
1 B 7 B A0 5 10 BEUGRROCR T 38 A A0 I RO R 1 8007 181 . 18T 3. 13 SR 5 B8 AR 1 TR
R UG XS B Y BT 1B, &L 3. 14 JRIR T 52 B B AR 1 R B R 38 4 Ak 2 )5 1 TR RICR A
Xt o7 1) BT
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MIEL 3. 9~ 18] 3. 14 B3] DL Y, 38 ot B 05 P2 6 A 1 5 3 BIDVRT Xk 6 F R B AR Y
PG 5 B 50 e ) TR R JEE SRR ) PR AR R AT 1 09 i A

3.3 EABEAEHK

LT PR AR A5 BE P 30 M 50 A TR B 0 LU BE L R A 22 AR SR T O RE A i )
T SR AR . SR R P A I R AR TR LT TR 2 R AR E B AR AT T LA 3k
1) 38 5 P 50 REA R AR L DAY A9 X L R o8 T 450 B2 {194 20 A 6 R R A 19 255K, I
A LASR PG 85 2 16 B4 BT T R E A B T 1

L5 VR AE A 2 32 T 7E 24 467 Ak i B8 A RE ity - 10y 3 5 ST D 0 PR A 400 B P R (s DL
50O Z T8 9 5% 2 Al J i P15 1) 07 6T DS T e A TR B0 8 o o G K JRE & 73 A Y1 [ A )
B, BT LL, A 2 S L, 07 PRI S AR FT & AR 2 B I K A O ik ity il i

3.3.1 EFEMENXREE

e~ BT EIMUE AR B 2 i FRATT ek 1 — T R s B & . el 38
25 TR AL A MR 3 2 PR RS — A 3R XA B AL A 1) i (R R S 1) BB e B 3 1Y
A REPE A R, 1T BEATL S ik Y LM 8 A DX DA 23 U A B R R B A DX |
AR o M3 B e KO AE R I, SRR A bR SO ML 3 2 B8 R R B . AR5 R R KL
— BN E AR . X T —4ESEREYLE & o, BB R R B RBUE F, (o), AR A AR AT
PREL f, RGO B4 x B—DESEREEL R IFE [, (o) R E RS E R

F,(x) =Lf ()dt (3-4)

L7 EIRLRE A H A 0 98 48 I R A8 B B 2 45 & i — M 7 R 20K . ik
P GO p ()03 5 FRR SR B BE LGN A P8 0 B2 23 A1 R 5 B2 pR K. AR A 7 &1
WLAE P 5 a5 5 R A U ih PR B 7 ELRAT p, GO R ik . It & 5r p, )
i p . () Z 18] 4 5 Z8 2 B PRI A2 Al A 23T 2 fife e 1) ) e

AR BT 1 X i A e . S I an EMR R AT BT R 3 A b B 45X (3-5) Bl .

s =T :J;p,(x)dx (3-5)
XF T B A EAR R R AR Y 05 vk AT S i A b B, =X (3-6) I
‘Z):G(Z):szz(lf)dl (3-6)
0

S 3 A e = (3-7) TR
2 =G "(v) (3-7
X (3-7) KB v R B A S5 0 K B9 o SRR H AR B K BE G = . 1t T H bR E &
FUR G RRERIEAT T 35 i A A 3, DRtk 5L A A0 R) 9 0 A 2 B L an xR (3-8) T

p.(s)=p, (v) (3-8)
PRt AT LA FE R4 R Y A A IS B IR FE 9 s AR o, it (3-9 FiR .
2 =G "(v) =G "(s) (3-9)

JIr AT AR 3 B 6y 1 45 P4 405 4 i 14 P A8 A i BE (LA B L s PR R ) IR FEE 2 =
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R4 bR H e 4 S L o] AAS S B A fe AL R — e 20 3R L TR AN F .

(1) AR B 1 ¥ Ak D 380 % Jirt s PG 0% Dy WL A R 4 A A Ak 3, DL (3-5)

(2) F4 B8 H bR R WAL 5 B pR AL p . (=) o SR A H b R 54T 254 £k A B3 1) A5 46 bR 4K
G (), WL (3-6);

(3) JHIRIG MG MG A B0 K BE G s AR o SR 2 =G ' (), WLa(3-9),

JIT U L7 LR Ak 390 A2 3 e — A KB AR R B e R B 1 R T T T s T
Ao B T 7 BL DT A A5 T R4 2 B A BE 0 T IR B A PRI RS . BT L, BT BB OE
F14) G B AR 2 IR B2 AR bR

3.3.2 HEFAFEMEMNR OpenCV #1 Python LI
B EHE R SERB T T .

import cv2
import numpy as np

import matplotlib. pyplot as plt

img0 = cv2. imread( 'dark. jpg"') # 52 B R %
scr = cv2. imread( 'graysky. jpg') # B HCH bR EE
img0 = cv2. cvtColor(img0, cv2.COLOR_BGR2GRAY)

img = img0. copy() # M T Z 5 foxt e

scr = cv2. cvtColor(scr, cv2.COLOR BGR2GRAY)
mHistl =[] mNuml =[] dinhistl =[]
mHist2 =[] mNum2 =[] dinhist2 =[]

for i in range(256) : = X} JE G b 17 5 ik
mHistl. append(0)
row,col = img. shape R B B AR AR 2R A I 9 3 R 1

for i in range(row) :

for j in range(col) :

niistl[img[1i,J]] = mHistl[img[i,3]]+1 £ GE K A A4

mNuml . append(mHist1[0]/img. size)
for i in range(0,255):

mNunl . append(mNuml[i] + mHist1[1i+ 1]/img. size)
for i in range(256) :

inhistl. append(round(255 % mNuml[i]))

for i in range(256) : # Xt B b5 R IE 1T 35 i 1k
mHist2. append(0)
rows, cols = scr. shape £ R B H 5 B R AR 2R A 58 RN

for i in range(rows) :

for j in range(cols):

mHist2[scr[1,j]] = mHist2[scr[i,j]]+1 = 4531 K AE A%

mNum2. append(mHist2[0]/scr. size)
for i in range(0,255):

mNum2 . append (mNum2[ i] + mHist2[ 1+ 1]/scr. size)
for i in range(256) :

inhist2. append(round(255 % mNum2[1i]))
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g=1[1 = TR E S 1 BB AR R
for i in range(256) : # P17 E Ak
a = inhistl[i] flag= True
for j in range(256) :
if inhist2[j] ==a:

g. append(j)
flag = False
break
if flag == True:
minp = 255
for j in range(256):
b= abs(inhist2[j] — a)

if b<minp:

minp = b
jmin = j
g. append( jmin)
for i in range(row) :
for j in range(col):
img[1, 3] = g[img[ 1, 3]]

cv2. imshow("original”, img0)
cv2. imshow("scr", scr)
cv2. imshow("img", img)
plt. hist(img0. ravel(),256)
plt. hist(scr.ravel(),256)
plt. hist(img. ravel(), 256)
plt. show()

RN RINE 3. 15~ K 3,17 Fian, ZEFERE 315 PRI IREN E
J7 IS R AT 3,16 —FE H O R . SR EG L E LR i MG & 3. 17 s, 3. 15
o SR TR R T ORI 3. 17 —RE 1 A I 1 XA
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50 100 150
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3.4 £ ET

PG 149 K FEE 23 AP 71 4 2 3 o 8 7 K 8 W 55 Of ) R D e PRL A 9 JC JE o DT o8 38 PR 1Y Joi
o SRR A A0 4 s PR 0 LR

3.4.1 ZMHETHREE

G B K B B 5 B R VRS2 06 T MG R BE (B I — A~ eR &, B B3 5K &1 #8 mT DL 31— 4>
KT HR BEAE Y 3 A R A, R DAGE o 2 A28 4 b LR BE A %) 3 [T 28 K R i .
Dy=a XD, +b (3-10)
KDy TR IKIE LA G WK JEAE D, FTmZHaiim AR KIEE o b K
A 0 5 FE 0 S EL 3 3R R A
(1) X a=1.6=00F PR IG EE A
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B

(2) B a=10,EFUEIAMKEME L OG>0 0<<0), mﬁ%lﬁlf%éﬁi/}z%g

3.4.2 ZMZT#HEY OpenCV 1 Python LI

VAP GO P A3 S o], S BRARHS T

import cv2
import numpy as np

import matplotlib. pyplot as plt
img = cv2. imread( 'gray. jpg')

grayImage = cv2.cvtColor(img, cv2.COLOR BGR2GRAY)
height = grayImage. shape[0]

width = graylImage. shape[1]

result = np. zeros((height, width), np.uint8)
for i in range(height) :

for j in range(width) :

if (int(grayImage[i,j] % 2) > 255): gray = 255
else: gray = int(grayImage[i,j] +50)
result[i,j] = np.uint8(gray)

cv2. imshow("Result", result)

plt. hist(grayImage. ravel(), 256)

plt. show()

TR Y A R B AR B R K (R 5
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# A — i #1152

= iy v 0
#RAMR R SR (I 0 50
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HrEmLE
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3.5 XM HEH T

AT 0 — Bl BE A L AR e, BT B e . ol T 0 B0 2 7R AR R LR A X
SR AR AR AR (R B XSRS i DA PR 28 e 0 008 0 0 A I DX A ) L R
KA TR L RIEE AT LA T 48 5 P 45 By I S 445

3.5.1 X#ETHJRIE

P 0 B 0 500 fe— A 2 % 1 2K (3-1 1) B 7%
Dy =c Xlog(1+D,) (3-11)

P e R AR R D, JIFIA R R (. Dy h A eI 0 B A7 I B £

XS INE 3. 22 Fis, y=log(x+1)

AR S BT 7 A R (AL T S 4 7 K R 1 1 j;
S I M T AR Rk — A s [
FI R0 LA LB 25 R T DA i 0~ 100, FL4E R 1oL
R P {8 5 03 5 S R AR R R . o
AT 25 5 KB OB A, T ARG R X BB B R L R 0 100 150
0 3 750 L B 0 0 2 R G PR TT L O DI T M P s oo xEMCIA R R G
B,

3.5.2 X# TR OpenCV 1 Python LE
PEIAGORT B8 70 460 1y S AR P AN R

import cv2
import numpy as np

import matplotlib. pyplot as plt

def log(c, img):
output = ¢ * np.log(l+ img)
output = np.uint8(output)

return output

img = cv2. imread( 'sky. jpg', 0) # e IR Of I’ R
output = log(40, img) # AT X B AR e, ¢ = 40
cv2. imshow( 'Output', output) £ woREG S H

cv2. imshow( 'img', img
plt. hist(output. ravel(),256)
plt. show()

AR EITEERME 3. 23 FE 3. 24 iR,
A 3. 24 AT LIE W UG SR A &S IR 350 40 09 %) b BE e v g Ar e Jo W W i  BS nY =
B P BEME RS SRR T BE B S Ty 28, b SC B R 08 A9 H Y .
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3.6 N5 %

TEARIRBETS o NIRTE 25 5 o3 H 5 B 9 28 k. T 7 veg JRBE T o IR OXF 57 B8 1) A2 fb A
S PG, O T RE B BT 2 e RRE B PR IR 2 TR R O S R e e R nT LA
S 78 e ) 5 1 o G i AR

3.6.1 MM THJHEIE

A 74 4G S A RS A B AR A R — R B B RE A M AR e, L — i 3R 58 =X
R (3-12) iR,
Dy =c XD’ (3-12)
H,D, MDDy ByBAEEEEI 00,10,y WA s R4
5 %6 B AN () A AR A ] ARG o 1 AS [) B 326 5 1 b 1 5 AT AR B DX S8 XF B R
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Bl e KR DX X FEE oy R PRI JEE O E rh — AN R B S R P E TR Y
SRR JBE X Sl i S 8 5 g R R DX, o

(1) 2 y=>1 W, 2 P AR B RE 9858 ven 1 DI, T 4 R B3 4 A 78 o B R A 1
R DX 30T L BE A 3138 5

(2) 2 <71 Wf, 2 L AR B RE SR A DI, T 4 K32 4 2 s 78 7 B TR A A1
R DX 30T L BE A 3138 5

(3) 2 y=1 W, %K AR JE 2 M 1 o ST sl o ik 2k 1 7 Aok b2 IR IR 4R

S 2 e e i i A R R PELBOR (LG R AN AL 3. 25 From . IR e R O 2
(/N 1A A 0GR TR A R Ry R T 1 I AR ARTH OR R

L A I

1.0 —
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—Q2¢ i | I i i
AR A

PE03.25 Al h AR 46 Ja A A R o 45O 2

3.6.2 BT OpenCV #1 Python LY

SILL Yy =0.5 Bl y =2 Jg Bl R 1 BN 22 4 g A0 o 22 fhe i 7 e AURS B T
JIr 7

import cv2
import numpy as np
import matplotlib. pyplot as plt

img = cv2. imread( 'gray. jpg',0)

imgl = np. power(img/float(np.max(img)), 1/2) Hy=0.5
img2 = np. power(img/float(np.max(img)), 2) Hy=2
cv2. imshow( 'original', img)

cv2. imshow('r =1/2"', imgl)

cv2. imshow('r = 2", img2)

plt. hist(img. ravel(), 256)

plt. hist(imgl. ravel(),256)

plt. hist(img2. ravel(),256)

plt. show()

FRBFER BT RNE 3. 26~ 3.28 Fian, MK 3,27 ol Y y=1/2 B}, BR Y
R R B DX 3l % B BEAS 20 o s BB 3. 28 WL, 24 vy =2 B, EG A & R R DX 36 Bb B 45 2 1
B o T LA EMZ AY A IS 2 e 2 3 ek R T G R X B R SRk B RS G 5E  H AT
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3.7 HET#®

— I ERALFE B AR A 35 SR e AR 2 (8 1 807 RS b B R U B AR A
W2 — R R E — DB T T B EHR ARG 43 PR 4 . KT T BAR R A
INF T WAR R RE . ORI S K 3 A 6 1) S R IR 10 1% L B TR ) LAk B R A 46

WO S BE AR S T H bR 58 5K B BT L A B, B R T s R
R E b 58 B — it LB T LA 3] S A L i 5 X3 i

3.7.1 HETHREE

IR JEE 1 (L7 He 1) R KR IR U T

0, x<T
f(x) = (3-13)
255, =T

Hoip, T AR, Bl 382 — 20 0 B VE R K BE A 127, an R B %
AR Z WK BEAE/NT 127 B2 AR R K EE BB B 0, & W & ok 255, WA 3. 29 IR,
XA B 43 2R A FH 0 IR B AR R Ry 4

SIS

0 127 255 KA JRE
Bl 3,29 KR (EAR s B E

T2 1R {7 46 4 P R AT 4 SR PE AR AR )iz o R — R R R R Sy A R R
PG A B R 2 D AT S B RS S0 Y T T 2 o DT 7 2 2% T 5 o 0 i BT %
MHE. R EREGHNEZFEREZ—.

3.7.2 H{EZ#HHE) OpenCV 1 Python LI
B 4 S B (ET L 9 U0 P11 I D 11 1 PR R

ret, thresh = cv2. threshold(images, m,n, method)

SR

o ret: RKzRIR I,

* thresh: R BEALIE KA.

* images: F/RE AT I(E AR 4 1Y B .

© om: RANVOERY K I H

o n: R T CEUR T BT R
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* method: KR 1 P AT T J7 5 #E AT AR 43 F0 . W AT RY B H 40 ) 7 ¥R A DLR FL R
Dcv2. THRESH_BINARY: MF 8. & TEEME 18T HIH 05 @cv2. THRESH
BINARY _INV: B H 5 R R AEH; @cv2. THRESH_TRUNC:
FER T B {8 1Y A2 bk%"'f?lﬂﬁ @cv2. THRESH_TOZERO: M4 £ T B AR &
WHEHC R E MR RME, KT EAEN AELI; @cv2. THRESH_TOZERO _
INV: YRR T BER R E N A O S RRE, & T BER AE R,

P15 180 2 4 ) S BRFR P AN T

import cv2
import numpy as np

from matplotlib import pyplot as plt

img = cv2. imread( 'lenaNoise. jpg', 0)
GrayImage = cv2.cvtColor(img, cv2. COLOR BGR2GRAY)
ret, threshl = cv2. threshold(GraylImage, 127,255, cv2. THRESH BINARY)
ret, thresh? = cv2. threshold(GrayImage, 127,255, cv2. THRESH BINARY INV)
ret, thresh3 = cv2. threshold(GrayImage, 127,255, cv2. THRESH TRUNC)
ret, threshd = cv2. threshold(GraylImage, 127, 255, cv2. THRESH TOZERO)
ret, thresh5 = cv2. threshold(GrayImage, 127, 255, cv2. THRESH TOZERO INV)
cv2. imshow("GrayImage", img)
cv2. imshow("result", threshl)
cv2. imshow("result", thresh2)
cv2. imshow("result", thresh3)
cv2. imshow("result", thresh4)
cv2. imshow("result", thresh5)
plt. hist(img. ravel(), 256)
plt. hist(GrayImage. ravel(), 256)
plt. hist(threshl. ravel(),256)
plt.axis([0,255, 0, 5000])
plt. show()
plt. hist(img. ravel(),256)
plt. hist(GrayImage. ravel(), 256)
plt. hist(thresh2. ravel(),256)
plt.axis([0,255, 0, 5000])
plt. show()
plt. hist(img. ravel(), 256)
plt. hist(GrayImage. ravel(), 256)
plt. hist(thresh3. ravel(),256)
plt.axis([0,255, 0, 5000])
plt. show()
plt. hist(img. ravel(), 256)
plt. hist(GrayImage. ravel(), 256)
plt. hist(threshd. ravel(),256)
([0,255, 0, 5000])
()

=

plt. axis
plt. show
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plt. hist(img. ravel(), 256)

plt. hist(GrayImage. ravel(), 256)
plt. hist(thresh5. ravel(), 256)
plt.axis([0,255, 0, 5000])
plt. show()
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PR B T 1o B4 7 TR AN 8T 3. 30 BT
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